Skanes BF

IAF6:2

IMP over faltet, 24 bord, 48 par. Antal brickor: 12.

Plac Par Poang Namn MID
1 604 3.37 Sara Asplund Sivelind - Daniel Sivelind 16660 12589
2 6 2.42 Ola Rimstedt - Mikael Rimstedt 88183 88184
3 611 2.25 Gote Berntsson - Henrik Wegnelius 92122 2050
4 203 2.03 Daniel Eriksson - Adam Stokka 24659 30515
5 206 1.58 Tom Gérds - Daniel Gullberg 13002 37167
6 9 1.57 Maria Gronkvist - Catharina Ahlesved 1076 7124
7 10 1.50 Robin Bjorkstrand - Peter Karlsson 30309 2382
8 403 1.49 Rune Pettersson - Rolf Scherdin 3141 3102
9 609 1.48 Bjorn Andersson - Tommy Andersson 14660 14659
10 612 1.25 Bengt-Erik Efraimsson - Mats Axdorph 127 2053
11 4 1.22 Svein-Gunnar Karlberg - Kjell Gaute Fyrun 26241 47698
12 408 0.95 Joakim Nordlindh - Thomas Ivarsson 35307 6659
13 602 0.92 Frederic Wrang - Fredrik Nystrom 8652 18356
14 2 0.86 Simon Hult - Leif Bremark 36107 11042
14 205 0.86 Marie Johansson - Johnny Petersson 17265 11931
16 608 0.80 Anders Palmgren - Mart Altméae 1340 5914
17 7 0.54 Olof Bergstrom - Magnus Ekman 1200 6926
18 207 0.51 Borje Dahlberg - Mats Pettersson 4744 5587
19 401 0.49 Martin Lofgren - Carl Ragnarsson 2881 2498
20 210 0.41 Ingemar Andersson - Thomas Winther 5871 3522
21 412 0.29 Gullvi Hogberg - Séren Lennartsson 1884 9338
22 411 0.20 Castor Mann - Erik Hansson 58464 53648
23 601 0.04 Krister Ahlesved - Niklas Warne 13995 15344
24 5 0.02 Marten Gustawsson - Jan Lagerman 8699 7856
25 405 -0.02 Henrik Sallberg - Bjorn Davidsson 29785 19252
26 201 -0.04 Erik Fryklund - Johnny Blid 80722 21205
27 11 -0.20 Goran Selldén - Bjorn Wenneberg 4863 1912
28 12 -0.29 Johnny Ostberg - Christer Bjaring 2051 3545
29 610 -0.41 Harald Sjoman - Ingvar Grahn 8915 5064
30 1 -0.49 Mikael Gronkvist - Jonas Petersson 85230 2059
31 607 -0.51 Hakan Straaf - Jan-Erik Thomasson 1161 1304
32 407 -0.54 Andreas Westman - Bo Sundstréom 23603 3723
33 208 -0.80 Hans Kvick - Per-Arne Karlsson 2878 1246
34 402 -0.86 Jan Clementsson - Peter Fredin 55627 2514
34 605 -0.86 Tommy Bergdahl - Olle Wademark 2181 14800
36 202 -0.92 Pierre Carbonnier - Hakan Tjarnemo 5538 5534
37 8 -0.95 Mikael Lindblom - Jan Andersson 5094 11704
38 404 -1.22 Sanna Clementsson - Alexander Sandin 55629 41730
39 212 -1.25 Daniel Gustavsson - Per-Olof Larsson 7923 7723
40 209 -1.48 Par OI-Mars - Patric Holmberg 5342 17031
41 3 -1.49 Ole Marius Myrvold - Lasse Aaseng 47699 203274
42 410 -1.50 Bjorn Ohlsson - Peter Olofsson 5648 5771
43 409 -1.57 Goran Hammarstrom - Simon Bech 11426 87173
44 606 -1.58 Magnus Eriksson - Tobias Torngvist 1170 16484
45 603 -2.03 Thomas Andersson - Johan Bennet 15537 93
46 211 -2.25 Peter Ventura - Jonas Engstrom 3715 11389
47 406 -2.42 Nils Ahlén - Leif Ruthstrém 1169 13060
48 204 -3.37 PG Eliasson - Gunnar Elmroth 2827 8335
13 4 K105 Basta kontrakt 14 & KKn654 Basta kontrakt 15 41086 Basta kontrakt
Nord v 9642 3v N =140 Ost v6 3v OD-1100 Syd v Kn864 5NTV =-460
Alla + D94 Ingen 4982 NS + Kn6432
#EKn8 & ¢ v & NT #KD87 & ¢ v & NT &D & ¢ v & NT
4ED6 #Kn9872 N7 796 8 4107 D983 N7 8585 4 EK42 4 DKn95 N46101
vK108 7 S7896 8 vKD1082 v9543 S79576 vK2 vED10975 S 4 6 1 0 1
47632 ¢ KKn5 O6 547 4 + D6 ¢ KKn4 06 4857 + E87 +5 07 5 111111
K76 #10932 V65474 #Kn954  #E10 V64857 #KKn92 #4104 vV 75 111111
443 aE2 473
v EDKn53 v EKn7 v3
+E108 + E10753 + KD109
#D54 #632 #E87653
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
207 607 3v S+1 &6 170 55.0 -55.0| 6 406 24 S+1 vK 140 118.0 -118.0 1401 6vO-1 &A 50 175.0 -175.0
3 403 2v S+1 ¢3 140 31.0 -31.0| 3 403 3¢ S+1 ¥vK 130 116.0 -116.0| 4 404 64 V-1 #Q 50 175.0 -175.0
4 404 3v S= +3 140 31.0 -31.0| 5405 3¢ S= ¥K 110 96.0 -96.0| 9 409 3NO-1 ¢K 50 175.0 -175.0
5405 3v S= &A 140 31.0 -31.0|207 607 24 N= v4 110 96.0 -96.0| 11 411 64 O-1 ¢K 50 175.0 -175.0
6 406 2v S+1 ¢7 140 31.0 -31.0|208 608 3¢ S= ¢K 110 96.0 -96.0| 12 412 64 V-1 #Q 50 175.0 -175.0
7 407 3v S= ¢3 140 31.0 -31.0| 4 404 3v V-2 +2 100 96.0 -96.0|201 601 64 V-1 #Q 50 175.0 -175.0
8 408 3v S= ¢6 140 31.0 -31.0| 12 412 2v V-2 &K 100 96.0 -96.0|205 605 6v V-1 #Q 50 175.0 -175.0
11 411 3v S= ¢33 140 31.0 -31.0|203 603 3v O-2 «A 100 96.0 -96.0(210 610 6v O-1 K 50 175.0 -175.0
12 412 2v S+1 &A 140 31.0 -31.0| 2 402 3vV-1 &«K 50 63.0 -63.0|211 611 4v V= ¢K -420 -63.0 63.0
201 601 3v S= ¢3 140 31.0 -31.0| 7 407 3vV-1 3 50 63.0 -63.0( 2 402 44 V+1 #Q -450 -87.0 870
202 602 3v S= ¢3 140 31.0 -31.0|205 605 24 N-1 ¢9 -50 13.0 -13.0| 5 405 44 O+1 ¢K -450 -87.0 87.0
203 603 2v S+1 ¢3 140 31.0 -31.0|211 611 4¢ S-1 vJ -50 13.0 -13.0| 6 406 4v V+1 &#Q -450 -87.0 87.0
205 605 3v S= ¢3 140 31.0 -31.0| 10 410 24 N-2 ¥4 -100 -150 150| 7 407 44 O+1 ¢K -450 -87.0 87.0
206 606 2v S+1 ¢3 140 31.0 -31.0|212 612 2NS-2 ¥vK -100 -150 15.0| 8 408 4v O+1 K -450 -87.0 87.0
208 608 3v S= ¢3 140 31.0 -31.0(206 606 3v V= ¢2 -140 -43.0 43.0| 10 410 4v O+1 ¢K -450 -87.0 87.0
209 609 3v S= ¢3 140 31.0 -31.0| 8 408 44 N-3 ¢8 -150 -450 45.0|202 602 4v O+1 ¢K -450 -87.0 87.0
210 610 3v S= 6 140 31.0 -31.0( 9 409 44 N-3 ¥4 -150 -45.0 45.0|203 603 44 O+1 ¢K -450 -87.0 87.0
2 402 2v S= +Q 110 70 -7.0(202 602 44 N-3 ¢9 -150 -450 45.0|204 604 4v O+1 ¢Q -450 -87.0 87.0
9 409 34 O-1 vA 100 7.0 -7.0|204 604 2NS-3 ¥K -150 -45.0 45.0|207 607 4v V+1 ¢2 -450 -87.0 87.0
1401 3NN-1 48 -100 -113.0 113.0|209 609 3NS-3 K -150 -450 45.0(208 608 4v O+1 ¢K -450 -87.0 87.0
10 410 4v S-1 ¢3 -100 -113.0 113.0 1401 3NS-4 ¢K -200 -76.0 76.0|212 612 4v O+1 ¢Q -450 -87.0 87.0
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204 604 4v S-1 3 -100 -113.0 113.0|210 610 3NS-4 vQ -200 -76.0 76.0|206 606 3NV+2 2 -460 -87.0 87.0
211 611 4v S-1 3 -100 -113.0 113.0|201 601 3vyDV= v6 -530 -221.0 221.0| 3 403 44 O+2 ¢K -480 -103.0 103.0
212 612 4v N-1 42 -100 -113.0 113.0| 11 411 3NDS-4 vK -800 -291.0 291.0|209 609 44 O+2 ¢K -480 -103.0 103.0
16 & EKKn7 Basta kontrakt 17 4 Kn107654 Basta kontrakt 18 4962 Basta kontrakt
Vast v84 3¢ N =110 Nord v Kn102 6NT N =990 Ost v 9865 54 O =-450
ov ¢ KKn543 Ingen + K3 NS + Kn974
*Kn6 & ¢ v & NT *104 & ¢ v & NT +108 & ¢ v & NT
D82 #1065 N8 9 6 86 .- » K98 N 107 9 1212 «KDKn74 4E103 N7 4222
v EK9653 v DKn7 S896 86 v 9843 v 765 S 107 9 1212 v KDKn vE743 S74222
¢E ¢+ D962 033734 ¢ E10752 ¢ DKn96 026311 ¢ 862 ¢ KD3 O 6 8 101110
*874 #1092 V33734 #Kn972  #853 V26300 *K5 *742 V 6 8 101110
4943 « ED32 # 85
v 102 v EKD v 102
41087 +84 + E105
#EKD53 *EKD6 #EDKn963
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1401 3vV-2 «A 200 71.0 -710( 2 402 64 N= +Q 980 167.0 -167.0| 8 408 4v O= 48 -420 21.0 -21.0
4 404 3v V-2 &A 200 710 -71.0| 6 406 64 N= ¢Q 980 167.0 -167.0| 12 412 4v V= T -420 21.0 -21.0
6 406 3v V-2 «A 200 71.0 -710( 7 407 64 S= ¢A 980 167.0 -167.0| 10 410 3NO+1 #A -430 21.0 -210
7 407 3v V-2 &A 200 71.0 -71.0( 10 410 64 S= +A 980 167.0 -167.0| 1 401 44 O+1 45 -450 -3.0 3.0
9 409 3v V-2 4A 200 71.0 -71.0( 11 411 64 N= +Q 980 167.0 -167.0 2 402 44 V+1 &T -450 -3.0 3.0
11 411 3v O-2 «A 200 71.0 -71.0(203 603 64 S= ¢A 980 167.0 -167.0| 3 403 44 O+1 ¢A -450 -3.0 3.0
201 601 3v V-2 «A 200 71.0 -71.0({205 605 64 S= ¢A 980 167.0 -167.0| 4 404 44 V+1 &T -450 -3.0 3.0
206 606 3v V-2 «A 200 71.0 -71.0|206 606 64 N= v5 980 167.0 -167.0 5 405 44 V+1 &T -450 -3.0 3.0
5 405 24 N+2 vQ 170 55.0 -55.0|207 607 64 S= ¢A 980 167.0 -167.0| 6 406 44 V+1 &T -450 -3.0 3.0
208 608 24 N+2 vQ 170 55.0 -55.0| 9 409 44 S+3 &7 510 -61.0 61.0| 7 407 44 V+1 &T -450 -3.0 3.0
2 402 3#S= ¢A 110 7.0 -7.0| 1 401 44 N+2 ¢Q 480 -84.0 84.0( 9 409 44 V+1 &T -450 -3.0 3.0
3 403 2#S+1 vA 110 7.0 -7.0| 5 405 44 N+2 ¢Q 480 -84.0 84.0| 11 411 44 O+1 »T -450 -3.0 3.0
12 412 3#S= vA 110 70 -7.0| 8 408 54 S+1 v4 480 -84.0 84.0|201 601 44 O+1 »T -450 -3.0 3.0
203 603 3¢ N= vQ 110 7.0 -7.0|201 601 54 S+1 ¢5 480 -84.0 84.0|202 602 44 V+1 &T -450 -3.0 3.0
205 605 3#S= ¢A 110 7.0 -7.0|202 602 54 N+1 ¢6 480 -84.0 84.0|203 603 44 O+1 45 -450 -3.0 3.0
210 610 2¢ N+1 vQ 110 7.0 -7.0|204 604 44 S+2 +Q 480 -84.0 84.0|204 604 44 V+1 &T -450 -3.0 3.0
8 408 3¢ N-1 vQ -50 -79.0 79.0|211 611 54 N+1 ¢Q 480 -84.0 84.0(206 606 44 V+1 &T -450 -3.0 3.0
10 410 3¢ N-1 vQ -50 -79.0 79.0|212 612 54 N+1 +¢Q 480 -84.0 84.0|207 607 44 V+1 &T -450 -3.0 3.0
207 607 3¢ N-1 vQ 50 -79.0 79.0| 4 404 54 N= &3 450 -98.0 98.0|208 608 44 V+1 &T -450 -3.0 3.0
209 609 INS-1 v6 50  -79.0 79.0( 12 412 44 N+1 v2 450 -98.0 98.0(209 609 44 V+1 &T -450 -3.0 3.0
211 611 3¢ N-1 vQ -50 -79.0 79.0|208 608 44 N+1 &6 450 -98.0 98.0|210 610 44 V+1 &T -450 -3.0 3.0
212 612 3¢ N-1 vQ -50 -79.0 79.0|209 609 44 S+1 v4 450 -98.0 98.0|211 611 44 V+1 &T -450 -3.0 3.0
202 602 2NS-2 v6 -100 -110.0 110.0|210 610 54 S= ¢8 450 -98.0 98.0(212 612 44 O+1 &A -450 -3.0 3.0
204 604 34 N-3 vQ -150 -136.0 136.0| 3 403 64 N-1 ¥5 -50 -280.0 280.0 (205 605 3NV +2 ¢7 -460 -3.0 3.0
19 » K10854 Bésta kontrakt 20 « E1085 Bésta kontrakt 21 a4 Bésta kontrakt
Syd vE84 34 S =140 Vast v KD95 2y N =110 Nord v KDKn9 34 O =-140
oV +92 Alla +8 NS ¢ K72
#532 & ¢ v & NT #KD52 & ¢ v & NT #Kn10852 & ¢ v o NT
46 & 32 N65697 a74 « KD32 N45876 «Knl10987 & EK632 N8 79 46
v Kn963 vD72 S656 97 v3 v Kn1042 S4586 6 vE54 v76 S87 946
¢ D107543 ¢ EKKn 06 86 4 4 ¢ EKD976 ¢4 08856 7 ¢ 105 ¢ DKn43 046397
*Kn6 *K9874 V68644 #10973  #EKn86 V88567 #D43 *K9 V45397
« EDKn97 + Kn96 D5
v K105 vE876 v 10832
+ 86 + Kn10532 + E986
«ED10 *4 *E76
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
9 409 44 S= #J 420 191.0 -191.0| 4 404 3¢4DV-1 vK 200 143.0 -143.0 {209 609 44DV -1 vK 100 103.0 -103.0
203 603 44 S= #J 420 191.0 -191.0( 6 406 34DV -1 vK 200 143.0 -143.0( 4 404 44 O-1 ¥3 50 69.0 -69.0
208 608 44 S= &J 420 191.0 -191.0| 10 410 3¢DV-1 vK 200 143.0 -143.0| 6 406 44 O-1 ¥v3 50 69.0 -69.0
209 609 44 S= &J 420 191.0 -191.0| 12 412 34DV -1 vK 200 143.0 -143.0| 7 407 44 O-1 ¥4 50 69.0 -69.0
7 407 24 S+1 ¢4 140 57.0 -57.0|202 602 3¢ V-2 K 200 143.0 -143.0( 8 408 44 O-1 ¥v6 50 69.0 -69.0
205 605 34 S= 7 140 57.0 -57.0|205 605 3¢DV-1 vK 200 143.0 -143.0| 9 409 44 O-1 ¥v3 50 69.0 -69.0
206 606 34 S= ¢4 140 57.0 -57.0| 1 401 2v S+1 ¢A 140 114.0 -114.0| 10 410 44 O-1 ¥4 50 69.0 -69.0
1 401 44 S-1 +4 -50 -55.0 55.0(207 607 2v S+1 ¢A 140 114.0 -114.0| 11 411 44 O-1 3 50 69.0 -69.0
2 402 44 S-1 +6 -50 -55.0 550( 5405 2vS= ¢A 110 98.0 -98.0(|201 601 44 O-1 ¥v3 50 69.0 -69.0
3 403 44 S-1 ¢4 -50 -55.0 55.0(210 610 2v S= ¢K 110 98.0 -98.0(210 610 44 O-1 ¢3 50 69.0 -69.0
4 404 44 S-1 o7 -50 -55.0 550| 2 402 2¢ V= ¥vK -90 10 -10| 1401 34 0O0= ¥3 -140 -49.0 49.0
5 405 44 S-1 ¢4 -50 -55.0 55.0(201 601 2¢ V= ¥K -90 10 -10| 2402 34 O= 3 -140 -49.0 49.0
6 406 44 S-1 ¢4 -50 -55.0 55.0(206 606 3v S-1 ¢A -100 -2.0 20| 3 403 34 O= ¥3 -140 -49.0 49.0
8 408 44 S-1 7 -50 -55.0 55.0(|209 609 3v S-1 ¢A -100 -2.0 20| 5 405 24 V+1 vK -140 -49.0 490
10 410 44 S-1 ¢7 -50 -55.0 55.0(203 603 3#V= vK -110 -6.0 6.0 12 412 34 O= 3 -140 -49.0 490
11 411 44 N-1 +A -50 -55.0 55.0(211 611 3¢ V= vK -110 -6.0 6.0 (202 602 34 O= v7 -140 -49.0 49.0
12 412 44 N-1 +A -50 -55.0 55.0(212 612 3¢ V= &Q -110 -6.0 6.0|203 603 34 O= ¥3 -140 -49.0 49.0
201 601 44 S-1 ¢4 -50 -55.0 55.0(204 604 3vDS-1 ¢A -200 -53.0 53.0(204 604 34 O= ¥8 -140 -49.0 49.0
202 602 44 S-1 ¢7 -50 -55.0 55.0(208 608 3vS-2 ¢A -200 -53.0 53.0(205 605 34 O= ¥3 -140 -49.0 49.0
204 604 44 S-1 ¢4 -50 -55.0 550| 7 407 3¢DV= vK -670 -223.0 223.0|206 606 34 O= 3 -140 -49.0 49.0
207 607 44 S-1 o7 -50 -55.0 550 8 408 3¢DV= vK -670 -223.0 223.0(207 607 24 O+1 ¥3 -140 -49.0 49.0
210 610 44 S-1 ¢5 -50 -55.0 550 9 409 3¢DV= vK -670 -223.0 223.0 (208 608 24 O+1 ¥3 -140 -49.0 49.0
211 611 44 S-1 ¢4 -50 -55.0 55.0| 11 411 3¢DO= vK -670 -223.0 223.0|212 612 34 O= v2 -140 -49.0 49.0
212 612 44 S-1 o7 -50 -55.0 550 3 403 4vDS-3 ¢A -800 -264.0 264.0(211 611 5#N-2 «A -200 -87.0 87.0
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22 4 E1053 Basta kontrakt 23 41085 Basta kontrakt 24 484 Basta kontrakt
Ost v 754 34 O =-140 Syd v D532 54 V =-650 Vast v 762 5¢ ND-2-300
oV 41065 Alla ¢ Kn42 Ingen + K76543
#1094 & ¢ v & NT #E93 & ¢ v & NT #KKn & ¢ v & NT
4 DKn64 & K82 N3 3733  E642 « KDKn73 N4 2824 4 EK76 4 D10952 N3 9837
vK2 v 103 S33733 v- v K109 S 42824 vDKn95 ¢3 S39837
¢+E874  # K93 O 10106 9 8 410963 ¢ EK87 O 8 115 118 +8 ¢ DKn O 104 5 105
#ED5 #K8732 V 10106 9 8 #KKnB862 &7 vV 8 115 118 D983  #E6542 V 104 5 105
497 49 4 Kn3
v EDKN986 v EKn8764 v EK1084
¢ DKn2 + D5 + E1092
*Kn6 #D1054 «107
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
2 402 3NV-1 7 100 99.0 -99.0| 9 409 4v V-7 ¥3 700 351.0 -351.0| 3 403 3vyDN-149 -100 155.0 -155.0
3 403 44 V-1 v4 100 99.0 -99.0| 6 406 64 O-2 49 200 2420 -242.0| 8 408 5¢ N-2 &A -100 155.0 -155.0
5405 3NV-1 v4 100 99.0 -99.0|203 603 64 V-2 ¥3 200 2420 -242.0|211 611 3vDS-1 4A -100 155.0 -155.0
7 407 3NV-1 v4 100 99.0 -99.0| 10 410 54 O-1 &5 100 227.0 -227.0| 9 409 24 V+2 ¢4 -170 112.0 -112.0
8 408 3NV-1 3 100 99.0 -99.0|206 606 64 O-1 vA 100 227.0 -227.0|212 612 34 O+1 vK -170 112.0 -112.0
10 410 3NV-1 ¥4 100 99.0 -99.0| 2 402 4v S-2 #2 -200 139.0 -139.0| 10 410 5¢DN-2 v3 -300 38.0 -38.0
11 411 3NV-1 v4 100 99.0 -99.0 1401 44 O+1 &5 -650 -64.0 64.0 1401 44 O= <vA -420 -31.0 310
201 601 3NV-1 ¥4 100 99.0 -99.0| 3 403 54 O= <vA -650 -64.0 64.0| 4 404 44 V= 2 -420 -31.0 31.0
202 602 3NV-1 v4 100 99.0 -99.0| 4 404 54 O= &5 -650 -640 640| 5 405 440= <vA -420 -31.0 31.0
206 606 3NV-1 ¥4 100 99.0 -99.0| 5 405 44 O+1 vA -650 -640 64.0| 6 406 44 O= <vA -420 -31.0 31.0
207 607 3NV-1 ¥4 100 99.0 -99.0| 7 407 44 O+1 &5 -650 -64.0 64.0| 7 407 44 O= <vA -420 -31.0 31.0
210 610 3NV-1 ¥3 100 99.0 -99.0| 8 408 44 O+1 vA -650 -64.0 64.0| 11 411 44 O= v2 -420 -31.0 31.0
212 612 3NV-1 7 100 99.0 -99.0| 11 411 54 O= &5 -650 -64.0 64.0| 12 412 44 O= <vA -420 -31.0 31.0
4 404 3v S-2 46 -100 20 -2.0|201 601 44 O+1 #4 -650 -64.0 64.0|201 601 44 V= ¢6 -420 -31.0 31.0
6 406 3v S-2 &A -100 20 -20(202 602 44 O+1 ¢Q -650 -64.0 64.0|202 602 44 V= v2 -420 -31.0 31.0
12 412 3v S-2 46 -100 20 -20(204 604 54 O= &5 -650 -64.0 64.0|203 603 44 V= v2 -420 -31.0 31.0
203 603 3v S-2 ¢A -100 20 -2.0|205 605 44 O+1 #6 -650 -64.0 64.0|204 604 44 O= vK -420 -31.0 31.0
1401 3#0+1 9 -130 -20.0 20.0|207 607 54 V= ¥3 -650 -640 64.0|205 605 44 O= K -420 -31.0 31.0
209 609 3NV= ¥4 -600 -203.0 203.0(208 608 44 O+1 vA -650 -64.0 64.0|206 606 44 O= <vA -420 -31.0 31.0
204 604 44 V= v4 -620 -209.0 209.0 209 609 44 O+1 ¢Q -650 -64.0 64.0|208 608 44 O= <vA -420 -31.0 31.0
205 605 44 O= 49 -620 -209.0 209.0 (211 611 44 V+1 ¢3 -650 -640 640| 2 402 44 O+1 vA -450 -52.0 52.0
208 608 44 O= <vA -620 -209.0 209.0 (212 612 44 O+1 vA -650 -64.0 64.0|207 607 44 V+1 vA -450 -52.0 52.0
9 409 3NV+1 ¥4 -630 -210.0 210.0|210 610 44 V+2 ¥3 -680 -81.0 81.0(210 610 44 O+1 vA -450 -52.0 52.0
211 611 3NV +3 ¥4 -690 -2350 235.0| 12 412 64 V= vA -1430 -323.0 323.0|209 609 44DV= v2 -590 -137.0 137.0
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